Chapter 3
Problems

1.
There are many flights from Vancouver, BC to Calgary, AB each day.  The data below shows the number of minutes a flight was late (or early) in arriving in Calgary for a sample of 5 flights.  To explain, a positive number means the flight was late, a value of 0 indicates it arrived on time, and a negative number indicates it was early.  So the first flight was 4 minutes late and the last flight 10 minutes early.  
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a.     Determine the mean amount flights were late (or early).
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b.     Determine the median amount flights were late (or early).
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2.
The following frequency distribution reports the number of students enrolled in each of the 50 sections of various courses taught in the College of Business last summer.  

Students 
       
      Frequency
0 up to 10


  3

10 up to 20


  8

20 up to 30


16

30 up to 40


10

40 up to 50


  9

50 up to 60


  4
    Total 


50


a.
Determine the mean number of students per section.
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b.
Determine the median number of students per section.
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3.
Suppose your cousin started a management job with Canadian Tire in 1990 at $30,000 per year.  In the year 2002 her salary was $65,000.  What was the geometric mean rate of increase per year for the period?
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4.
For a sample of 50 stocks traded yesterday on the Toronto Stock Exchange, 10 showed a decline of $1.00, 15 showed no change, and 25 increased by $2.00.  Find the weighted mean.
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